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If the marginal utility of the last unit of commodity ‘X’ consumed is twice the marginal
utility of the last unit of Y’ consumed; then the consumer will be in equilibrium when

(A) the price of ‘X’ is one half of the price of ‘Y’

(B) the price of ‘X’ is twice the price of ‘Y’

(C) the price of ‘X’ is equal to price of ‘Y’

(D) the price of ‘X’ is thrice the price of ‘Y’
X TROT FRVOD  FeIBOOT ATHT 20 33:%7135@@ Y SRS FRRoD
TEITOOT ATVE ACEIV0T 33%7‘(35@63’ @6636%%8, IYNT 0350 933053@2 9023 ReNOIN
D3R 2B0HYTHZYS ?

(A) X I 233030 ‘Y’ & 3o Sl atapiyl

(B) X* &3S0z Y’ S eIdon adcgdc?&wgﬁ

(O X I 38030 Y & 33 AN

(D) X &3S0z Y’ S eIdon MGG%W%ﬁ

Q=10 - P and Q, = 2P — 5 are the market demand and supply functions respectively for
‘X’ commodity. Given these functions, find the market equilibrium price.

X SR mmee@ detd DR T’@gjaé’f i)oi)i?n’%fsgl TN Qg = 10 — P 0=
Q, = 2P — 5 ot FRTwINT. 8 LoNINPoT mdﬁ% B3 RCOT 23@30533& TOD
B &BAWD.

(A) R 1.66 (B) %17.00
(C) 240 (D) %5.00

When the price elasticity of demand of a good is greater than one, then the expenditure on
the good

(A) increases with price fall

(B) decline with price fall

(C) rise with price rise

(D) remain the same irrespective of price rise or fall
20T BT I3 e %%ﬁg@’%”é’oﬁ)& %W03E,08 £23§ﬁf§5’, & TROT @S TR0

Sed
(A) &= BSod BASBROAR EEHIE.
(B) ©=T$3 dod BHASBRAR IBIHOIHMHIH.
(C) &= Bod wdFo3R0BT BeRTHIS.
(D) &8s eIdosn wrbes N B IRIoPTTH RSB Y LOTNHIS.
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4.  Which one of the following price discrimination takes away the entire consumer surplus ?
(A) Price discrimination of the third degree
(B) Price discrimination of the second degree
(C) Price discrimination of the first degree
(D) All the above
IINT 0o ®oIH  23Jod 3363335@‘ MTTI WRT JHOdN0 HOTP QYT

RIS ?
(A) THRTS BOSH 2330 3?633535
(B) QTES 033 23630 3?63@5
(C) [RBWS oIT L3dod 3363335
(D) B20eOT DY

5. Incase of ‘L-shaped (right angle)’ isoquant, MRS y will be

(A) Positive (B) Negative

(C) Equal to zero (D) None of these
L-839030 (W0 E0eT9F907)’ e 903, SeaJod MRS, 030

(A) cﬁmséﬁmﬁdagd’ (B) ajamséﬁmﬁdaga"

©) BoFE ADTINHIS (D) 2PN oI LY

6.  The price faced by a perfect competitor is I 5. Then its average revenue will be
(A) lessthan¥ 5 (B) equaltoX5
(C) more than¥ 5 (D) data inadequate to determine
DOTPEE %@’Eoﬁ)@l QTVOEZTIE 3Ty YVTIWAZTET TANY JSo3n %5 “&m@n’
QT ROIRO STTOON)
(A) 53,08 BB fadagd’ B) %5 i% Tw’ﬁamﬁdagd’
(C) 53,08 £23%ﬁd°§d) (D) APEDTLD WHDTET 350&%3

7.  Market with only one buyer is called
(A) Monopoly (B) Monopsony
(C) Monopolistic competition (D) Oligopsony
aga.a)ﬁe UDCRTTITITIE mme%osa@ DNOTH FTODLIMHIE ?

(A) asémﬁaaé B) ﬁaa‘i@ﬁg
(C) = o30e £j¢@é3 (D) = RRZ
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10.

A person is earning I 25,000 per month in his present profession and can earn a maximum
of ¥ 22,000 per month in the next best profession. What is the economic rent earned by the
person in his present profession ?

sgom%m Y, TR %%OSJG} gondnt T 25,000 ﬁ%%m@a" 83 %%OSJ@I i)é&é’
LJedpomd %%OSJ@ %&iodé’ &ondnt % 22,000 Ny g rtA s laplate] TN aé%oﬁa@ B3
SMY NPIT QT 16 D ?

(A) 25,000 (B) 22,000
(©) 3,000 (D) None of these / INF oY WY

In the Kinked demand curve model, what is the effect of upward shift in the MC curve
within the discontinuous range of MR curve ?

(A) Quantity rises but Price remains the same.

(B) Price rises but Quantity remains the same.

(C) Both Price and Quantity remains the same.

(D) Both Price and Quantity increases.
3008 2JeR3 WRWOORY, ACT0Z GSHIoD TeaJodn NYFONTE Ko d

26533908 3323 Beadosn sheen,aUson BOLES BO[IY S8
(A) 23S0 AFHE AR TS0y BT,
(B) B3oorasy RIHe AR ISodn Rwpoga.
(C) 23S B BEes ATBR VAGHE RIS,
(D) 2363 HZ B IVEH BLOIT.

In the theory of production with one variable input, which of the following are true when
the Average Product (AP) is at its maximum ?
(1) Declining marginal product curve (1))  Increasing total product curve
(i) MP = AP (iv)  Declining total product curve
Select the correct answer using the codes :
(A) (1) (B) (ii) and (iii)
(C) (iii) and (iv) (D) (@), (ii) and (iii)
20T WTUIMNE YVITITTOMITIE YVIITID %m@oéd@, ROIRD YOI ﬁ@%&d&aﬁ

28038 85 IYATNYE o3P HO ?
()  ROMITOHT 2eTP0T w0TF Sead (i) BRI 2.t w0, Sead

(i) MP = AP (iv) BDROINZTES %3, YOS, TBead
T'«J’O'@Qéﬁ%f@l WPRBROE BOOIDT YOZTHER 8;903315 R0k :
A) @) (B) (i) 0 (iii)
(©) (ii) 3= (iv) (D) (), (i) 0 (iii)
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11. What is the price elasticity of demand when marginal revenue is equal to zero ?
(A) Equal to zero (B) Greater than one
(C) Less than one (D) Equal to one
RE00T BWIODEY BRTE, WeDemoN Nt eI et %éw@awa"om PRI ?

(A) ?5@35'@% Re0eNTOZE (B) 2.0T3,08 £233wﬁ63§d’
(C) wows,02 3R AdId (D) agod'@& He0NTLZE
12. Slutsky substitution effect adopts the

(A) Cost difference method (B) Compensating variation method
(C) Compensation principle (D) Marginal revenue method

HE3R,00TT TOIE O JOBITVY YN 035953 AlapIEVS WPTRVZRORT ?
(A) 3% SR Vo (B) HOHITOZ T WHEURSBOD NGO
(C) JDwmoT 3% (D) 25002 35900 WPON

13. The Cobb-Douglas production function is given as :
Y = 1.32 L7 K% It indicates the

(A) Constant returns to scale (B) Diminishing returns to scale
(C) Increasing returns to scale (D) All the above

F92I8-BNAT LZIEFR DoDFRY Y = 1.32 LO7 KO0 omh amgnt e HEsy 3ee0m3d 2
(A) @66‘7«;’30&3’6 DEITTE 0 K0
(B) B0AXON® DEITEE €0 R,
(C) afBR0NT DU &3 Reerfsy
(D) BoedT Y=Y

14. A firm earned total revenue of ¥ 400 by selling 40 units, if it increases its sales by one more
unit, its total revenue will be ¥ 405. What will be the marginal revenue and the average
revenue of the firm if it sells 41 units ?

(A) MR=%9.878and AR=%¥5.0 (B) MR =%5.0and AR =% 9.878
(C) MR=%5.0and AR=%5.0 (D) MR =%9.878 and AR =% 9.878

20T wzﬁéﬁa Fe3TY 40 O3NEIE SANGTY,  0ITYTT  owews I 400 WED
STRODTIY NPHIB. B BRROD 00T TR, BFO0IPA FROFS AT
WER EBS8TI0NY) I 405 dmwmgzﬁ. B Te3vy 41 o30S SR o pieinieli>Inte]
RE3V0T STWIOD FJ) AOIRO STONTY) RN ?

(A) MR =%9.878 ﬁaé_% AR =%5.0

(B) MR=%5.0&»3) AR =% 9.878

(C) MR=%5.03)AR=35.0

(D) MR =%9.878 ﬁaé_% AR =3 9.878
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15.

16.

17.

18.

19.

What is the value of multiplier when consumption function is given as, C =120+ 0.8 Y ?
deen Dowssy) C=120+0.8Y SNTIN, TRETT Sfae)éﬁg obé’&dagﬁ ?

(A) 120.8 (B) 120.0 ©) 5.0 (D) 0.8
The Philips curve deals with the relationship between which of the following variables ?
(A) Wages and Price level (B) Unemployment and Inflation

(C) Unemployment and Income (D) None of these
2OF Beajosn 83 FFNT 039 BONY ST RIS AlSIAN Y Ea@ém@ﬁd’ ?

(A) 3pd DR USOD eI (B) IHBALT DR BRRYT
(C) ANBREN DIy wawod (D) ARINYE SIPIRP ©Y

According to classical economists, full employment will be ensured through

(A) Wage price flexibility (B) Price adjustment

(C) Interest rate rigidity (D) All the above
ROT,TANT Eﬂzﬁgz’m@;@tﬁ TFIT B8 FIINT OSRPYTT THRUT T[PREIE Wzﬁ.@éeﬁﬁ@l
TR ?

(A) 300 ) IJod ISR (B) IS0 Reomeedddnon

(€) wg 5o a@saéé’obaod (D) eOT QYIP

Given C =200 + 0.5 Y, I = 200 and G = 50 (where; C = Consumption, I = Investment,
G = Government expenditure and Y = Income). Find the value of equilibrium income.
C=200+05Y,1=2003) G =50 &mn Ae03peus BTII0NTRY, TOR 2RAND.

(28 ; C = wednen, I = B&F, G =RFTT ﬁzgs DB Y = ST0D).

(A) 450 (B) 900 (C) 350 (D) 800
According to Keynes, which one of the following is not correct ?

(A) Unemployment is caused by deficiency in the effective demand.

(B) Effective demand determines the level of employment in the economy.

(C) Effective demand is determined by aggregate demand and aggregate supply price.

(D) Economy operates always at full employment level.
3e0ET TFIT B IPNT 0330y T ROO3PNY ?

(A) ZOmIHEO Lie@doD BRTIok IBALNBT, FAFIS.

(B) TOmoen300 2deFodw @@EEé’o&@ﬁ emﬂ.@éeﬁd abégsdcﬁgl SCSES—Abga".

(C) =O@HTO edeBBOSD 2ty eBBoD I T it JPTFoD LdJdNow
NPEDIT3.

(D) &RETI0DNE) OSTozzNeR F[RDE emcﬁ.@éen’é’)dagzﬁ.
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20.

21.

22.

23.

In the IS-LM model, the LM curve shows the equilibrium condition in the

(A) Goods market (B) Financial market
(C) Labour market (D) Real sector
IS-LM mdaoﬁ@, LM Beadosn IPNT o3y mT Tw’abﬁ.@ee)sw@l 3.@@67«13%{5’ ?
(A) =T3_NY mdoéé'é’s (B) >czoRd mﬁaa’%
© 3w mdﬁ:’% (D) a‘é)% {Sleve)

An increase in the money supply results in
(A) change in the slope of the LM curve
(B) no change in the LM curve
(C) rightward shift of LM curve

(D) leftward shift of LM curve
T @aé’fcﬁa@gﬁaﬁ %&Z%’Q 33 YNNI oo TOFHITED0ED m@ga" ?

(A) LM Bealod a0 wrwnss

(B) LM 3Beadond o3n@e wkensBolnmm)d.
(C) LM TBealodn jeiend, Se3mend3ga.

(D) LM Bealo3dn Q@eins, Sutdsergs.

Consider that the per capita income of X state in 2011-12 at market price was I 67,000 and
Price Index (2004-05 = 100) in that year was 161, find the real per capita income :

2011-12 B X To@O Hothse BOT Iwe mooDey R 67,000 SNTLRHTTIN g
TR & SRETY 23S0 mméo%‘@ (2004-05 = 100) 161 Q0T TONI, 32}'5 clop)
BTIONTT, I, T3

(A) % 107870.0 (B) 416149

(C) R416.1 (D) None of these / @INF oS0YTp WY
According to Keynes, investors will get motivation to invest more only when

(A) MEC < rate of interest (B) MEC > rate of interest

(C) MEC = rate of interest (D) MEC=0

3639, BFIT, BPRITITON ), BARE TREL 03N BEOH AHIB 20T,
(A) 2oRTY ATNOT 383 < WROD TT
(B) 20@mY ABN0T 383 > WROD 3T
(C) woRTY ABNOT 383 = WROD FT
(D) 2oETY AFNOS FE3 =0

Space For Rough Work
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24.

25.

26.

Find the equilibrium rate of interest for the following IS and LM functions ; IS = 220 — 201
and LM =100 + 101

(A) 2 percent (B) 3 percent

(C) 4 percent (D) 5 percent
8 3FNT IS eI LM Dod3n@on Heh3eews WROD TT[TY FOw BRAND ;
IS =220 -20i and LM = 100 + 101

(A) 3e3m 2 (B) 3es®m 3

(C) 3eswm4 (D) 3e3® 5

The GNP of an economy at market price is ¥ 20,000 crore. Net factor income from abroad is
T 4,000 crore, indirect tax is I 3,000 crore, subsidies are ¥ 2,000 crore and depreciation cost
is ¥ 1,500 crore. Given the information, what is the GDP at market price ?

(A) 16,000 crore (B) 17,000 crore

(C) 11,000 crore (D) None of these
2.0T0 WeST mdoa’%oﬁa GO GNP 030 % 20,000 30683, ev@@Emo0onNe 3%@; T
n&Zo3w T 4,000 3ecks, 5&@@% 3003w T 3,000 deced, RGNS T 2,000 3wectd 03y
B AN 52;:@ % 1,500 B0ce3. %mgpa; ©39& 3000, mtﬁa%"égsoda ©on GDP o) ?

(A) T 16,000 32663 (B) T 17,000 35ct3
(C) % 11,000 30663 (D) 2PN IR B

Life cycle theory of consumption was put forwarded by
(A) Modigliani and Andro (B) Milton Friedman
(C) James Dussenberry (D) J.M. Keynes
RN 23T, %@30333& ORRTITY
(A) BR&NOIN R e%oc?,@) (B) &3%66 %@C‘e’éﬁ

(C) 23ea3d @Ra923D, (D) 28.50. 3¢a7,

Space For Rough Work
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27.

28.

29.

Which of the following indicators were used by Morris for the construction of Physical
Quality Life Index ?

(1)  Basic literacy rate (i1) Infant mortality rate
(11) Life expectancy at age one (1v) Per capita income
Select the correct answer by using the codes :

(A) (i) only (B) (i) and (ii)

(©) (), (i) and (iii) (D) (1), (i), (iii) and (iv)

ROTIT  2J93T msaab’aégsd mméoéﬁ@ TURW RRCOFTITY &3 IFNS oo
mzsaéoe‘n’e;@l w%%@wo@m@é’ ?
(i) oo mis;dé’oja n]e} (i) 3 DT T
(i) 2.0TBe [OPRATE oD 36%; (iv) 3P SO
%’o@@éﬁ%’@l WPRBROE FOOINT YOZTER 8;90336 W& :
(A) (1) 598, (B) (1) 0= (ii)
(© (D, (i) =2 (iii) (D) (), (i), (iii) 0 (iv)
The growth strategy which intents to provide equitable opportunity for economic
participants and extends the benefits of growth to every sections of the society is known as

(A) Balanced growth (B) Sustainable growth

(C) Inclusive growth (D) Faster growth
SPETZONOTVET RZEONMA ATNPT WSTOBNYTY, B ATPRT DY WNET WIOMR

Bosirtod PURRY SR VOGBS BROBHE LYRHIR0 303, A0 TS 2

(A) FH3rew Iz (B) =o3T Jdmednt
(C) ws¥nwocs Jee=edn (D) [encs desednd

In the new methodology (2010 onwards), which of the following variables is/are being used
for the computation of Human Development Index ?

(1) Literacy rate (i) Gross enrolment
(ii1)) Mean years of schooling (iv) Expected years of schooling
Select the correct answer by using the codes :

(A) (i) only (B) (i) and (ii)

(C) (i1) and (iii) (D) (iii) and (iv)

A ISEY (2010 T FoTTE), TS WHFA ARIY0TIRY, TEALD 3FNT oS
WLBNYTY, YRR ?

(1) m‘u;dé’ (11) %), APESISPI)
(iii)) ROIRD T WREND (iv) 36@%3 T DRENHD
T'«J’O'@Qéﬁ%f@l WPRBROTE BOOIDT YOZTER 8;903315 R0k :
A) () =2, (B) (1) =03 (i)
(©) (i) 0= (iii) (D) (iii) &0= (iv)
Space For Rough Work
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30.

31.

32.

33.

Which one of the following factors is stressed by Schumpeter in his theory of economic

growth ?
(A) Laissez-Faire (B) Innovations
(C) Population growth (D) Surplus value

ROXCLITITHT, 93T BRET IJean %@)o3c§@ FINT O3 @wosNdNR £a§§ T,
NERTIT ?

(A) 63@—-’8 OO LT msémé (B) wam,onen

© %WO@%OSJ JIgmednd (D) omoEw ﬁfae)é
The trickle-down theory

(A) recommended for the adoption of tricks to help the poor.

(B) states that government should spend more on poor.

(C) recommended for increasing income tax rate.

(D) states that an increase in per capita income will eventually increase the well
being of all the segments of society.

£33 IDT ATR03Y
(A) WETON ATION IVHBEW BOZNYIR @%5@%'@@%@ RO ZBGCébgd’.
(B) R3cTy) WERT a0ee3 £25% BULDE IV O %e%gd’.
(C) es3mo0D 3DRod TOD™Y %ai:ie)a O3 m&bgd’
(D) £2®am§zﬁow IUP BWIONEY TENHTIN HIOBE HWR JNET  BJT
O3RETiE eaoasi, BYFIT.

Which one of the following economists is considered as originator of ‘Big Push Model’ ?
(A) Hirschman (B) Paul Rosenstein Rodan
(C) Kaldor (D) Solow

83 IPNT o33 @Zﬁ?%@f)&%ﬁ@l Zf).racg IDT  TRTOON' BNRY  BEIIE TS0

TONIRTINT ?
(A) &OTEHR® (B) Zoe® 8@7‘3&@3@668\@@@56
(©) zodgyo® (D) Redwee

‘The degree of inequality in income distribution increases in the beginning and start
declining at latter stage of development’. Who has propounded this hypothesis ?

(A) Harrod-Domar (B) Lewis

(C) Karl Marx (D) Simon Kuznets
8;92';):%63053 T0NT TOIHY BTI0H NISTBVOD WATIVFS030 £2souﬁ S03TT BOIT

3RFHOIPMHIT T BOFUFOHTY TBTOOLTRTO 03T ?

(A) J3REE-BRTHT® (B) demt
(C) BUfs BPTE (D) :J:)ﬁaw@ B0e50 e,
Space For Rough Work
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34.

35.

36.

37.

Sustainable development address
(A) the needs of present generation only
(B) the needs of future generation only
(C) the needs of present generation without compromising the needs of future
generation
(D) none of these
ROAT DZ RO
(A) TR 290D ONZNTY 39T, SleRepnicial
(B) YmT 2 OB ONZNTIY 39T, SleSepnicial
©) YxT 2eOROB ONZNYY m%m@i?@%cﬁ TAT 2o ONSNYY
BeORI3A.
(D) 2YNT YT ¥
Incremental Capital — output ratio’ is symbolically written as (consider ‘K’ as capital stock,

‘L’ as labour and ‘Y’ as output)
a‘%}zﬁ:o@s@? T — BEIPes? TedoSnemy m0EedTemoN FFNT0Z S0DUTO.

(K’ 0G99 Boni®, L’ 35 w3 Y’ Q03 205 SONL).

K AK AK K
A T B) 3 © Iy D) 3
Knife-edge problem arises in
(A) Solow model (B) Kaldor model
(C) Joan Robbinson model (D) Harrod-Domar model
FPNT 0393 %m@oéa@ WO-TP Tw’ﬁ)?ﬁ’é szg)é’)?bgd’ ?
(A) BRBRe [T (B) aé@éce I piate!

(O Hoea® TR SPEO (D) BCREF-BATHT? SPED

If the price elasticity of supply (e ) is greater than the elasticity of demand (e,), then the
proportion of tax burden on buyer is

(A) Lower than upon the seller (B) Same as on the seller

(C) Higher than upon the seller (D) All the above
dS TPYF AImTIBow () kBF ATMBTIINGT (¢, BRNHT  A30H,
0DCDTITT e30eed Desdas 300 LPTT BEIeey

(A) SOOI 2vedd Qeshas TeS50€98,08 BB AT,

(B) T5o0owss vedd Qeshas @’)msadage elesicial

(C) Tovoass e Qeshas TeS30€98,08 £233wﬁdo§d’.

(D) 20O DY

Space For Rough Work

Economics 11



38.

39.

40.

The Laffer curve explains the relationship between which of the following :
(A) Tax rate and unemployment
(B) Tax rate and tax revenue
(C) Tax rate and inflation rate

(D) Tax rate and government expenditure
GJDQS@’UG Jeadosn, 83 IFNT 03P TT ST RIS AlSIA Y DTOFIT ?

(A) Soriod T3 I AHBAEN

(B) 3oriod 3T ) 3oroD Smo
(C) Soriod BT B BT 5O
(D) Soriod T3 W) Feed g

The principle of exclusion is applicable in which of the following goods :

(A) Public roads (B) Public park
(C) Anindividuals’ house (D) None of these
B IPNT 03595 RTDNIN BRTN O 3%@ @%oﬁammgd’ ?
(A) TRTEBQT TR (B) T[T RAT AP
© waéoja 0D (D) “&@n’%@ O3 RP V)

Mr. Raj has improved his English vocabulary in his pursuit to acquire post graduation in
English literature. Then, he has contributed for the improvement in the vocabulary of his
neighbourhood in his routine way of life. His influence on neighbours’ vocabulary could be
considered as

(A) Individual profit

(B) Positive externality of education

(C) Negative externality of education

(D) None of these
QF. Toz @ITY RoNew® m&%d@ @3€®€§6 BTAODTY ToIT T $,00008

BONERT 2RHROP By WOBITRT, TLATROREIT. FoITHFY ©wEST AI 2SI
Bg0Ho%n  ITRRTONHT QORI B WOEITE APITHNR  THI0PNTOZT.
SCBRTONTT BONER® B WOBITT AFITHBOD 306 Taged V3T TRIVETHR, VN0
TONEIRITOI 2

(A) a‘ipiaﬁé (PN

(B) %;sazﬁ @msés mwé @I

© %;sacﬁ saméé'é waaé TOHOED

(D) @YNT YT ¥

Space For Rough Work
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41.

42.

43.

44.

In which one of the following group of taxes impact and incidence of tax coincide ?
(A) Income tax and Excise duties
(B) Corporate tax and Excise duties
(C) Income tax and Corporate tax

(D) Excise duties and Sales tax
IFNT O30T ™HODT é’@ﬁn’%fég ceYafons) ‘&oméﬁi AN a&cgai DTGP 2@2@36 20ees

Desogad ?
(A) 0D 301 T WeFd AoTND
(B) BoRpeTees® 301 eI weFod RoINTo
(C) =m0 301 T FoRpeedees® 301
(D) @230 ®00T D3I 30003 301
Imposition of progressive tax is expected to
(A) Reduce the Gini coefficient
(B) Increase the Gini coefficient
(C) Maintain stability in the Gini coefficient

(D) Have bell shaped curve
TNSTT é’@ﬁ’oﬁa?\’)& NPRYTO0T B3 IFNT 03395Y TIIY, 36@%@’8)&6& ?

(A) A TOZ03T8 293 (B) AQ momooznd) L0F
(C) AQ TOm03TO %O’é’ (D) 3o &33TE Bead
The part of the government deficit which is financed solely by borrowing from RBI is called
(A) Revenue deficit (B) Fiscal deficit
(C) Budget deficit (D) Monetized deficit

BOTPEIE TN RBI Q0T [BO3NT FIOHOT TEITIRY R0BERTE AFTIETH FRHTION
2T, N0 FTODLRTVTE ?

(A) Tom0OD BRTI (B) &eod 303
(C) 2023e3° 3T (D) m:’sa@pw 3203

Tax buoyancy is an indicator used to measure the efficiency in revenue mobilization in
response to

(A) increase in population (B) increase in government expenditure

(C) increase in tax rate (D) increase in GDP
ZINT O3NPTT BR230D0IPN BWIOH R LGETTHT a’%é’oﬁaaﬁ& wdoden 3omn

3eennd BAETIRY, WYRUTHIE ?

(A) 2637«:’0835053 £2§f§ (B) ®IocTH ﬁzgsdé;)ﬁ @%‘g‘s@é
(C) 3on mox £2§§§ (D) GDP OSJQS £2§f§
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45.

46.

47.

In a financial year, the fiscal deficit of a government is reported to be I 6,50,000 crore,
revenue deficit is recorded as I 1,40,000 crore and interest payment was ¥ 1,10,000 crore.
Given this information find the primary deficit.

(A) 5,10,000 crore (B) % 7,60,000 crore
(C) 5,40,000 crore (D) None of these
2,000 TEHTITA TRETE) W0 RFETTT DZEoH FRTI0I T 6,50,000 30eed ot

DTOHOINT, ST0D FRTI03D T 1,40,000 3003 Q0T ToVCTINTS TN 28 w038
T 1,10,000 303NN . @a%é’)daas‘ 200300 @cﬁ&:# @@dé’oﬁa@ FOGE) BBOWD.

(A) % 5,10,000 263 (B) % 7,60,000 2ne83
(C) % 5,40,000 263 (D) [RNFO o3RI @)

Which one of the following taxes was originally proposed by Prof. James Tobin ?

(A) Customs duty (B) Transaction in foreign exchange
(C) Corporate tax (D) Wealth tax

33 YNNI oo 387‘?053@1 TR &P, 22eeE, L3’ %@p&%m@é’ ?
(A) ©20T90 RO0T (B) DTed QTHOD ﬁa@@tﬁ
(C) oRpedees® 3on (D) =o=&s 301

Which one of the following statements is correct with respect to the zero base budgeting ?
(A) Spending on all programmes is re-examined and justified each year.
(B) It emphasizes physical targets rather than financial targets.
(C) It focuses on the centralization of expenditure.

(D) It is purely an evaluation of existing budget and nothing new in it.
7?1.@35 Elapielc] Q;BOSJ%OSJE?& FoWORATOZ, FPNT 03w BePFoIN FOOITNT ?

(A) 2o RODEZFHMNIR SRS T, TIITERP HT BOBDY F0IT
HDPTRIII .

(B) eosomd HOMOR wHenN 57088 DN i) BT, DD .
(C) 2 HPID, FeoRLTOMWYEE, Meds BOHIS.

(D) @ ez w%%zﬁe}daﬁ 2T SFOUTNRTT SR TNBode BRT
RIeTR Y.
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48.

49.

50.

According to the factor-endowment theory, a country must specialize in
(A) Goods which employ more of dearer factors.
(B) Goods which employ more of abundant factors.
(C) Goods which employ improved technology.
(D) Any of the above
YVZITION-B3 %W(goéa’ TWIIT 2000 BTy OINT TR UD@%C)’&"OSJQ

TOEIBONTY, TWEODRIEZOTT
(A) O3R= TAIT  TITII0NY @2&‘% QRPO  YVIITIONNTTY
WFRRMZR 03 ¥YINTE
(B) 030 TRWIT WVIEIONG  BOFeoN BRATOINE  YVSITIONNTTY
WFRRMZR 03 BYINTE
(C) 0398 TN LVTITRODN Aod3 30%@@853@{ WFRITLZBRe WZYINLD
(D) BoeOIZYNFE 03595 TTTR
Trade between nations can be profitable even if one of the two nations can produce both
commodities more efficiently than the other nation is the gist of
(A) Absolute cost advantage theory
(B) Opportunity cost theory
(C) Comparative cost advantage theory

(D) Factor endowment theory
‘00T BTy  ATHER SANYIY, A Qf)@om 5@5%&03 £2§% Zﬁamﬁ

NICPIAZTALSelaplalect:2 Bowele ZOOHR BX B3 BeINS STCeds woézﬁmé@)@oﬁa mémd@‘
©ITDONTRIMYT” A FFNT 0193 ATYOTT BH8I0TTINT 2

(A) doBes, S eoed 2003

(B) =303 a"zgs %m@oé

(€) o3z 52?2‘3 (SN} %zrqa)os

(D) wvIETONT B %w&gos

Marshall-Lerner condition states that the foreign exchange market would be stable if the
sum of the price elasticities of the demand for imports and the demand for exports is

(A) Greater than one (B) Equalto zero

(C) Less than one (D) Equal to one
TOHE OF-UTET® AONTNT B;EBoT NCED  DATOD mdaéégsojaa %dmﬁd&%@adé’

s 2e@d ) T, tleadod LI RIMTIIOD B3I
(A) 2.0038,08 £23% Aodemd (B) ?i@dé'@% ReNTNT3eD
(C) 2,0038,08 3R @TRIed (D) 2,008, RedFoNTedesd
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S1.

52.

53.

Tariffication refers to
(A) replacement of quotas by tariffs only.
(B) replacement of all existing non-tariff restrictions by tariff.
(C) scaling down of tariffs.
(D) obtaining sanction to increase tariff rates.
‘m@&@eeﬁw@’ QO3
(A) 333, (quotas) TN FOTIT, 0T, DFRTYH .

(B) ©33BOHT weg Dedod FodeST AEOFNOR wIwN Moz
DERZY .

(C) ROoTHTY SNROHT.
(D) AOTE TTRR), BLAL WRBRCTR BEOINYT.

Which one of the following is the highest form of economic integration among different
nations ?

(A) Custom union (B) Free trade area
(C) Economic union (D) Common market
B ZYINT OO VNG BESNY IEINT SHET DICITLHT 8:936695 TRTNT ?
(A) e*:gsme ODRAONTE (B) =»g mémd {Sleve!
(C) SRET wIRE (D) BoNRT Fc eI

Which one of the following items is not included in the invisibles’ on current account of the
balance of payment of India ?

(A) Foreign travel (B) Transportation
(C) Loans from foreign banks (D) None of these
IOTIT HOWIOD WIVFOL 233@_% Bhplcions) 8:97{!3623’671%3@6 FINT O3Y 7'368(53@639 ?

(A) D33ed Bgom

(B) =o0R

(C) DTIed méoéan’é’?od BT TV
(D) 2N o3PYTH Y
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54. The Singer-Prebisch theory stated that

(A)
(B)

©

(D)

less developed countries gain in trade when they trade with developed countries.

less developed countries suffer a welfare loss from secular decline in terms of
trade due to export of primary products.

less developed countries lose in terms of welfare but gain in terms of foreign
exchange.

dependence on trade for development is not harmful to less developed countries.

20NTS- %2:)_6\ ~m0353’ w@tﬁ

(A)

(B)

©

(D)

UDFY BROOT [eINY WAINT HTTTY R wPRFY Bwodd
zﬁeeﬁn’@ﬁ’ SRINADIgvIcTAl

B3R DY BROOT BB TPLT SHRNIR, OF), SRBDIHYTOT
IO FOUTH BRIDOTPN FLRLHTE SF[Y, YIS,

3aH WDFH RBeOT BeIMER FUHT FAHT IFTHETL DD
DATDOPT GRONOT LRLSMEs.

WDF[AMIN TITT 30¢d BB[VOWIOIPMORH TR WPHFY BeodT
Seron m’swwg.

55. Compound duty can be defined as

(A)
(B)
©
D)

The combination of ad-valorem and specific duty.
The combination of ad-valorem and sliding scale duty.
The combination of specific and sliding scale duty.

None of these

Cplerstlelen BRI RO méama@?q’wwam ?

(A)
(B)
©
(D)

WG -BUTH® eI RAT® NORSISN B003Re
WTEE-FUTRE D) B RBON® R NY FooSeews
RAQT 3HFY B Lot Rerf Ny Hoodeews
PRNHO OIRPY TR ©Y

Economics
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56.

57.

58.

59.

‘Opening of country to world market gives an opportunity to utilize unemployed and
underemployed resources’. This theory is popularly known as

(A) Opportunity cost theory (B) Reciprocal demand theory

(C) Vent-for surplus theory (D) Exchange theory
‘20T d’@?ﬁﬁ@l T3P méw_atﬁ'@& DIRRTRYTO0T LVBO3RENRTE BT Tore
TR YVTO3LENATIE HOBIR,LNTTY ema’oifaeﬁ%f?@%@a ©WTTT BRTOINTH’. B3
ATINOTY Q30T @%%oﬁmﬁd’ ?

(A) ©TTI a"zgs Saplekcs (B) oD ed 2308

(C) =30¢3° oot ROFBAE AR08 (D) QATOOI 2)@903

The ratio between the quantity of a country’s import and export is known as
(A) Income terms of trade (B) Gross barter terms of trade

(C) Single factor terms of trade (D) Double factor terms of trade
WO T3 3T SN TF), TE0900 TN WDTIBITY QBTN Eé’oﬁa@amga" ?

(A) STOD THFTTE 8T (B) 2ty NATVOD SYTITT FTITO
(C) KB méw_atﬁd {open) (D) wwest ep—aéigps méw—atﬁcs FOIO

Official reduction in external value of the currency is known as
(A) Depreciation (B) Deflation
(C) Exchange control (D) Devaluation
WO Te3W  TT mwa@fa@a@@{ @@%3mﬁ TR0 SRBTY T, ALM{eln)

FODMHIA ?

(A) @%%oﬁaea’w (B) @‘éé’f&e
(C) QAo AWECH (D) @mée),@éoﬁae?m@

Fisher’s Ideal Index Number satisfies
(A) only time reversal test
(B) only factor reversal test
(C) both time reversal and factor reversal test

(D) none of these
OHTTEORT ST3E —-’NJaZSDasoEﬁJ IINT 03395y T, %%wéfogd’ ?

(A) Rephod BTy HOES oY =T,

(B) FF0° 3Tomy TOeE, oy [,

(C) RIDHoH I FYFO® AW SOBEH TOE MY
(D) [PNLY oI TE»
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60. The profit function given below will attain maximum value when the output level is
T=12x-3x2+2 (where; T = profit; x = output)
33 FFNT enYm DoNTR) @ﬁ% SANGTY, LOZIRATTN T\’@%@’S‘D@éw@l 3@3@3%(3 ?
m=12x-3x*+2 (2 7=y, x = LOIT)
A 9 (B) 2
< 3 (D) 17

61. The solution for a linear programming is said to be optimum when the objective function
takes
(A) only maximum value
(B) only minimum value
(C) either maximum or minimum value

(D) zero value
OeoDHTt ES@TT\%S)JO?TQS emgez’s DoNIY FIYNT 03 53‘3@)533;1 TRTN TOTOT )

33D RIOHT, LVIS 7
(A) TOF SR, BN B,
(B) 7 SR, BEmn =9,
(C) 7o uFs 3T SR, BEN
(D) ZnzAmNR

62. Input-output (model) analysis use the technique of

(A) Differentiation (B) Integration

(C) Matrices (D) None of these
aﬁg&f@w@’éﬁ é’)§€§s‘é’o$w FFNT oo AP w@uf%'&@%%gd’ ?

(A) &E3YoHeB® (B) @03 e’

© méagme (D) “&@T\’@JQ O3RN TR VY

63. Inregressionof ‘Y’ on ‘X’ ;X isa

(A) Dependent variable (B) Independent variable

(C) Constant (D) None of these
Y eaf X OB, X woentd

(A) ©T0D BT (B) —Aééo% 523@)'6

© 9(36?? (D) “&@T\’@J@ OINP TR VY
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64.

65.

66.

67.

68.

The sum of squares of deviation of set of values is minimum when deviation is taken from
(A) Arithmetic mean (B) Median
(C) Mode (D) Harmonic mean

FPNT O30 FTIRO 53‘3@)5630(3 5323@3053?521 BRINROTIN WOTH THODS 350057\‘%3

DBOZOD WNESIING (squares) BRTeY FAFINTOIE 2053
(A) ©03NIST RTIRO (B) oe&oDns®
(C) Brew® (D) @8@&@2’35@ QeI

If ‘r’ is the correlation coefficient between two variables, then;
I’ Q0LNTN NTHE WOING IO R’Sﬂ’owocﬁw@l ﬁweé—fa’ogd’ NOTIOTT, 3N

(A) 0<r<1 B) -1<r<0

©) -1<r<1 (D) 1<r<2
Variance is the square of

(A) Mean (B) Range

(C) Quartile Deviation (D) Standard Deviation
DFBoso (Variance) B¥NT 03595 3T 38a339F (square) e5oNT3 ?

(A) ooext (B) Teozs®

© aﬁzé’sep@ B00eBI (D) = OBETE B00eBI
If Mean = 25 and Median = 20, then find the mode;

A 5 B) 10

© -10 (D) None of these
S0ER® = 25 T 0RO = 20 ST 2BeeE° Fo HERAND.

A 5 B) 10

(©) -10 (D) dRINFD o3YHTH WY

The chi-square test can be used to test for
(A) Significance of association (B) Difference between population means
(C) Correlation (D) None of these

a%-‘-"fu&ﬁece ﬁﬁ; Y, O3V TY, 56@%@’@3 WFRWTDOR ?

(A) 2N$ES? 37° wRre0deBIE

(B) T0RSII® o0 NG SRS SSoA
(C) mmRoW0P

(D) @YNT YT ¥
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69. If mean of a series is 20 and variance is 16, then the coefficient of variation is
(A) 40 (B) 80
© 20 (D) None of these
2000 ACOATS AHOIROOIL 20 SN® &R DyZo3n  (variance) 16 Slalapipt
BRCRHA0D0ESET e5° 3eD0eTE Tomy SRAND.

(A) 40 (B) 80
(© 20 (D) dRINFD o3YHTH WY
70. Type — I error occurs when
(A) the null hypothesis is incorrectly accepted when it is false.
(B) the null hypothesis is incorrectly rejected when it is true.
(C) the sample mean differs from the population mean.
(D) the test is biased.
é%ﬁe — 1 BReaEy) 0339E39M VORI ROTT,
(A) SZNTOE 3@*9-%&33"@@3"%?93& B3ReO30TeIIN ONCTOATIN
(B) ®DoNTOE 3@-%@@@3%?6@1 B3ReEod0T TN STR,DATN
(C) RYPETL*S FTIROOID TR B3I BTIRONOS i)@mﬁ@)n’
(D) éﬁ‘xgs TE, ToBO3N I
71. Decadal growth rate of Indian population during 2001-2011 was
2001-2011 T T3R0S 539080 253?:’0336053 JIPmeIrtod T
(A) 21.54 (B) 17.64 (C) 23.87 (D) 1541

72. Global hunger index is developed by
(A) World Health Organisation
(B) Food and Agriculture Organisation
(C) International Food Policy Research Institute
(D) W.T.O.
B3 PN o3 Tw’oé’oiaa INSCT BAY) mméoswsgl @i)‘%@oﬁ@’%ﬁ ?

A) 27 e;ezi@en’é T'Joé’ (WHO)
(B) @90 ) IR T'Joé’ (FAO)

©) @oém%)@oﬁa 3BT NCS ROBRCTD T-Joé’
(D) W.T.O.
73. Over the last few decades, share of agriculture sector to the national income of the country is

(A) increasing (B) remaining constant
(C) decreasing (D) none of these

IPE TP BIINDOB, BeIH m%}@oﬁa @moﬁad@ %c?ﬂ %@%d TOD
(A) £233J§3§Z5’ (B) %dmﬁcﬂ’
(C) IRDDOJINT (D) “&@n’%@ OINP TR VY

Space For Rough Work

Economics 21



74.

75.

76.

77.

78.

The first (inaugural) ministerial conference of W.T.O. was held at
(A) Singapore (B) Geneva (C) Seattle (D) Doha
W.T.O. 3 IRTW (@60&3@@%3(3) BTSN Tw’ﬁ%@%%@ eb@ fefodeicielnte]

(A) RongRo® (B) 3Qcwzw (C©) 3ont3e® (D) Wpezd
Who is considered as Father of Green Revolution in India ?
(A) Manmohan Singh (B) M.S. Swaminathan

(C) Ahluwalia (D) Jawaharlal Nehru
QITIET BATY T0SO0D DTITNTROT 03390, TOMIRCINT ?

(A) DDIBRCBIT 1O (B) M.S. m0TFE
(C) wx=O0Iw (D) 2ROBTRUE BT

The major function of NABARD is to
(A) deal in government securities.
(B) accept deposits from public.
(C) give loans to public.
(D) give loans to commercial banks and RRBs for the development of the rural
sector.

B 3YNT 0oy NABARD I CSSEeY FOONE TINT3 ?
(A) RTETE Wokeme¥ (securities) BSTHOT ST
(B) ROTERATOOT BeId %@E@?’o@m
(C) FOTERATON AW VCTTH
(D) mo0eed %@%d wi)%@@mﬁ msémé IO 0 RRB 1 DO AT

Who has written the book ‘Poverty and Un-British Rule in India’ ?
(A) C.H. Hanumantha Rao (B) Vishweswaraiah
(C) Dadabhai Naoroji (D) C.N. Vakil
‘DoT3R3E WOk’ WRTOIET TR Al Roko’ DT JHFTITY W3 TTY 03T ?

(A) C.H. 8er03005° (B) 23ezT0m,
(C) TP TFEReR (D) C.N.8ees

According to 2011 census, the child sex ratio in India was about
2011 T &IN230 BFT 003 Y OoMONTDIY) ;

(A) 913 B) 940 (©) 923 (D) 930
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79.

80.

81.

82.

83.

14™ Finance Commission was constituted under the chairmanship of

(A) Vijay L. Kelkar (B) Y. Venugopal Reddy
(C) Y.S.P. Thorat (D) Abhijit Sen

14 3¢ Teazomd e;?of’uaerﬁ’w@l 0O33C eﬂqﬁéaé’oﬁe} TdEeRNG ?
(A) WO L. $ee),0° (B) Y. Secaoriocsmoes® 6’%
(C) Y.S.P. BneTes® (D) ed2es® Aot

In which type of unemployment, marginal productivity is zero or near zero ?
(A) Seasonal unemployment (B) Structural unemployment
(C) Disguised unemployment (D) Frictional unemployment

O3T NPT btﬁodraé@n’dég 0TI003 UDBDQZSB’BQOSJJ emsémﬁdaga" P ?i!aﬁéi?&
ﬁ&a@a’mﬁtﬁagd’ ?
(A) 9D3TNIT ibdaz&@éen’ (B) TB:0Z3 ibdaz&@éen’
(C) =HT=0UBT gdaﬁ.@agen’ (D) FReBoD ibdoa"@éeﬂ
What was the minimum support price for maize during Kharif season of 2014-15 ?
2014-15 T &00med3Q 308,280e¢3, INATERING B 2Ioww L3 O ?
(A) 1,150 B) T 1,310
(©) T1,250 (D) None of these / @MY o3PYTR ©Y

Which one of the following is not a provision of National Food Security Act, 2013 ?
(A) Right to receive foodgrains at subsidized price
(B) Nutritional support to pregnant women and lactating mothers
(C) Immunization support to mother and child
(D) Nutritional support to children
m%}eoﬁa BT 2IT8 Fo0 - 2013, B FINT 03I TT, WesTBY ?
(A) Do3RAR TTTY sTIT mﬁéﬁ%ﬁ@i R LTORT BT,
(B) MRee30D0N 0 TILOEIRI TI0P0ROT TIYT STV 0.
(C) 0% &I sorman @%d?ﬁ LJoe.

(D) =g 8n @%ﬁé’oﬁa oe.
Geographical area of Karnataka State is
(A) 1,72,000 sq.km. (B) 1,82,000 sq.km.

(C) 1,92,000 sq.km. (D) None of these
BoE 3T Uozséd LIPRRCDT %d’@?ﬁ&;’)

(A) 1,72,000 23038 3a0e. 28 (B) 1,82,000 23533 &.80¢. ad
(©) 192000350 30 08 (D) AN 3RPYTe Y
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84.

85S.

86.

87.

Average size of operational holding in Karnataka during 2010-11 was

(A) 2.50 hectares (B) 1.55 hectares
(C) 1.90 hectares (D) None of these
2010-11 d@ ToOE 3T Uo&séa’@doa’ ROIRO R L= ApICIoY)
(A) 2.50 £is;€6§ (B) 1.55 £is;€6§
(© 1.90 £i§3€6§ (D) “&@n’%@ O3RN TR VY

Which of the following sources of irrigation has maximum share in gross irrigated area of
Karnataka state ?

(A) Canals (B) Tanks

(C) Wells (D) Tube wells
TQOE 3T mzséd 2083 AT JWeBTY IFNT 030 ACTITOON THRUEY nog
TOUTY, BR0AT ?

(A) ToeNINH (B) 33nsH

(C) 2N (D) BPYN 2N

How many talukas of Karnataka were considered as ‘most backward talukas’ in the report
of high powered committee for redressal of regional imbalances ?

(A) 39 (B) 40
(C) 35 (D) None of these
@d’@% wmme@ss@ QIOF D TV %a’wdcﬁ AV 36@053@ BooE 3T

T T DT, TURBNYDY, B3 HOAT TR/ H0F BONBIRIATS ?

(A) 39 (B) 40

(C) 35 (D) 2INFD o3oYha3p ¥
Which one of the following crops covered maximum cropped area of Karnataka state during
2012-13 7

(A) Paddy (B) Maize

(C) Jawar (D) Ragi
2012-13 ©& 283 DIZ0eE BReITE IFNT 030 23@3053@1 ) £23% B3I
QIdoDennd ?

(A) 233 (B) hdeincd
(C) Bpey (D) oTon
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88.

As per 2011 Census, the percentage of urban population in Karnataka is
(A) more than the percentage of urban population in India.
(B) less than the percentage of urban population in India.
(C) equal to the percentage of urban population in India.
(D) None of these
2011 T ®JINCISOD T390, TIE WS U«)&séd JSNT TR 8637«1093&3053 BT EIIOTO

TEHERTY {PRTIHREST SNT BRe3T 253:}0935033 3B BITIOTO

(A) Tp3oea3,08 BeNT (B) Jp3r0c93,08 TR 1
© @’)msa'% Espiata) (D) 2RINFD o3oYhagp ¥
89. According to 2011 Census, sex ratio (females per 1000 male) of Udupi district
(A) 1093 (B) 1130
(C) 1005 (D) None of these
2011 T RINLS0D TWIFT, V@S 2Pod OomadzZy) (B@ AT Yoomon
RERIT,Y ,—w’osﬂa) ;
£
(A) 1093 (B) 1130
(C) 1005 (D) 2RINFD o3oYHa3p ¥
90. What is the percentage Share of Karnataka in the total population of India (as per Census
2011) ?
(A) 17.05 (B) 8.05
(C) 5.05 (D) None of these
27T BeBT 2td) BIH0J OO TIoE LT TOBE BeFHTITO Tk (2011 T HBIME2S0H
&,590) @&g& ?
(A) 7.05 (B) 8.05
(©) 5.05 (D) 2INFD o3oYhap ¥
91. Who among the following is known as the Father of Local Self-Government in India ?
(A) Lord Canning (B) Lord Ripon
(C) Lord Wellesley (D) None of these
IINT 03390, {IITS 7‘3’5}@053 HTIEONY LTITNT DO TS0 ?
(A) PGS i@a@orﬁ (B) wpws OFR®
(C) wGfs BG) (D) 2T 03T @Y
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92. Which one of the following is not true with respect to the MGNREGA'’s Job Card ?

93.

(A)
(B)
©

(D)

They are issued by Gram Panchayat
They must be issued within two days of the application.

They must be handed over to one of the family member of the applicant’s
household

Job card is a must to demand work under MGNREGA

MGNREGA 03 23923¢ 32GFe T} BoWoRRATOZ FFNT 03505 30 BOOIWNY ?

(A)
(B)
©
(D)

250208 TGS ETIHRY, MOFD TOWOHS AR,
25023¢ TETENYRY, WRE TOJT TR OBNFRFMIN AewIes.
QEINI, TEeOPTN WRE AT eHFOH 03I WOTTH AW L&iFeIesd

MGNREGA o» @e)_w’ﬁ%f@l 2IOITRTITITO Ew(aaojamﬁ 25023 @c:?eg@l
BROQT3e3.

Which of the following is not the objectives of Karnataka Panchayat strengthening project
called ‘Gram Swaraj Project’ ?

(A)
(B)
©
D)

To ensure higher investment by GPS to improve the social indicators.
To improve revenue mobilization.
To improve monitoring and delivery of key services to rural population.

To establish khadi shops in the villages.

8 IINT ORI TEN HOBT 3Ry QO FTODYME  FIoE L3FE
FTOLTVONSONT, LTI odemEoD 08T NZeBEY ?

(A)

(B)
©

(D)

r@)ﬁa DOWIAONENTY Ao T Tai.raa%n’%f@l RPIORW £23% RET
DIEITOD a"we@@@%ﬁ%@.

BSTIO FR,BETTEITTY A PIORTY .

MIWeEd HITN Teswew RSN AT0Z IJRCRINHITD  Tone
ST, PO .

%%ﬂ’%ﬁ@ SR8 WONRNYIR W@@&‘Ab@ .
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94. Which one of the following was established to work as a nodal agency to implement all the
housing schemes sponsored by central as well as State Government ?
(A) Rajiv Gandhi Rural Housing Corporation Limited
(B) Mahatma Gandhi Rural Housing Corporation Limited
(C) Indira Gandhi Rural Housing Corporation Limited
(D) None of these
30T, WML Tk ABIETNDOE  TOSRCRRLRT DR ©AS  03RCRINYGTY

FIONENINRDILL SpCres Tw’oéomﬁ FUR AWEIARW R FIINI o0 Tw’of—-goja@l
Wg&%’@aﬁcﬁ ?

(A) T3’ TR0 TRANEED A AMED A0S

(B) T, T0OH MILEd FEHS AN AODNT

(C) R0QTD MK TILNEED TAS AN AONVWT

(D) 2aRINTO oSRYTFR B

95. Which one of the following is/are true with respect to SHG-Bank linkage model ?
(1) It was launched by NABARD
(i1) It was launched in 1992
(i11) It is being used as financial inclusion strategy

(iv) In this model, only those SHGs which registered under cooperative act are linked to
Banks.

Choose the correct answer by using codes :
(A) (i1), (iil) and (iv) (B) (1), (ii) and (iii)
(C) (i), (iii) and (iv) (D) (1), (i), (iii) and (iv)
AATIOD HOFNH DI méo# OoBees® [RTOMN FoWoRATOZ IFNT O3y

203N ?

(i) %> NABARD Qo@ @602‘})3&@0@(3

(i) 2@, 1992 T TTOPRRAT.

(iil) QTR TITIRY RETE B FToONE BOZTAYN YRR,

(iv) B BPEOODPY, FEFD T0D BFT RPOFHBRROEHT RATOD ROPNRIRY
S93, 29,0878 ©0F¢ FPEHIT.

ﬁ’o@@éﬁ%’@l WFRBROE RAOOIT YOZTER 8;9033& veplei

(A) (i), (iii) 0= (iv) B) (1), (i) 0= (iii)
(©) (), (iii) = (iv) (D) (@), (i), (iid) 023 (iv)
Space For Rough Work

Economics 27



96.

97.

98.

The Cooperative Credit Societies Act, 1904 was enacted based on the recommendations of
(A) Edward Law Committee
(B) MacLagen Committee
(C) Cooperative Planning Committee
(D) Vaidyanathan Committee
83 FYNT 03598 HNS0 dFITYT BFITT 300 FHTD A Tw’oé’n’%f F00R-1904" &,
EONRRIRUINT ?
(A) QBETE TIIA W0 (B) 3R B0

(C) RITD 030CTTD Bewd (D) ﬁvzﬁémtﬁwf L)

NAFED is a

(A) Private company (B) Government Department

(C) Cooperative Organisation (D) Non-Government Organisation
NAFED 2,0t

(A) aJ9RN 3oBAOIPNAI (B) R3cTHE aenadodone
(C) "X Tw’oﬁomﬁcﬁ’ (D) ﬁdaﬁ@éﬁﬁoﬁoﬁmﬁd’

Which of the following is/are true with respect to ‘National Co-operative Development
Corporation’ ?
(i) It was established in 1973
(i1) It was established as a statutory corporation
(ii1) It was established by an act of Parliament.
(1v) It has given boost to the growth of Cooperative Marketing.
Select the correct answer by using the codes :
(A) (i) only (B) (i) and (ii)
(C) (1), (1) and (iii) (D) (), (iii) and (iv)
m%}@oﬁa EIsSEpie) 8;92';)?3)% 37’\’33?% BOLOPRTOZ FPNT 03Yey) BOOIPNES ?

(1) “&ZS@Q 1973 6@ @&Tn’mﬁd’

(i) amDy eowd mﬁﬁwc@ﬁ ANTTIYN @&m’mﬁd’

(i) ATIY, ORI @oﬁgoﬁaod W@@&Tn’@aﬁd’

(iv) AW AXTI0 mzﬁaéé‘é 33%363‘557?05355& méezﬁ%cﬁ
Tw’o@eén’%f@l WFRBNLOE AOOIT YOZTHR 8;9033IS veplei

A) () =2, (B) (1) =03 (ii)
©) (), (ii) 0= (iii) (D) (i), (iii) 502 (iv)
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99. What was the total number of primary Agriculture Credit Cooperative Societies in
Karnataka during 2013-14 ?

(A) 4000 (B) 5238
(C) 6346 (D) None of these

2013-14 B SHEEITROT 2t3) TFWT FA YVZO TBEO HoPRY Rosd, O, ?
(A) 4000 (B) 5238
(C) 6346 (D) BPNIY SPHEL ©Y

100. Which of the following are true with respect to TRIFED ?
(i) It was established in 1997.
(1)) Its basic aim is to save tribals from exploitation by private traders.
(111) It helps the tribals in getting remunerative price for their minor forest products.

(iv) Agriculture ministry give aid to TRIFED for compensating loss incurred due to price
fluctuation.

Select the correct answer by using the codes :

(A) (1), (i) and (iii) (B) (1), (ii) and (iv)

(C) (1), (i) and (iv) (D) (1), (i), (iii) and (iv)
TRIFED 1} H00QR%08 FNIPYHNFE 03meysy RO03NES ?
() ;oS 1997 (]3] @pé’m’@aﬁd’

(i) avAN méw—aan’%f BRCRBONOR &Dcsﬁés% 2636321 d%fb@ab AQRT NP
wéeeﬁmﬁzﬂ.

(i) 2PEFER, 25TT> BOTRAT ‘30> WO, YOSFOM’ €oeIemoDT 2ISoDY AR
HT0D TREIT.

(iv) 3Sneenms oohdhn?os TRIFED # orhs SH=sy FORAAFL 3
FITROODT TEITIRS S0 WIS,

ROBESNIRY, WHRBR0E FOOIIT LVTTTY, 303, 2339& !

(A) (), (i) =023 (iid) (B) (@), (ii) = (iv)
(©) (i), (iii) 0= (iv) (D) (), (i), (iii) 502 (iv)
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